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R2 = 4 K r2 = 2 K m1 = 8 K m2 = 12 K m3 = 10 K
m4 = 15 K S = 135 L
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R2 = 4 K r2 = 2 K m1 = 2 K m2 = 12 K m3 = 13 K
m4 = 15 K S = 168 L
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R2 = 5 K r2 = 3 K m1 = 3 K m2 = 15 K m3 = 15 K
m4 = 12 K S = 135 L
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R1 = 4 K r1 = 2 K R2 = 3 K r2 = 2 K R3 = 3 K r3 = 2 K
m1 = 135 K m2 = 12 K m3 = 10 K m4 = 10 K S = 334 K
cosα = 0,8 L
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R2 = 5 K r2 = 3 K m1 = 1 K m2 = 13 K m3 = 15 K
m4 = 12 K S = 41 K cosα = 0,6 L
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R1 = 4 K r1 = 3 K R2 = 3 K r2 = 2 K R3 = 5 K r3 = 3 K
m1 = 35 K m2 = 10 K m3 = 13 K m4 = 10 K S = 204 K
α = π/3 L
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R1 = 3 K r1 = 2 K R2 = 3 K r2 = 2 K m1 = 5 K m2 = 13 K
m3 = 6 K m4 = 13 K S = 74 K cosα = 0,8 K β = π/3 L
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R2 = 4 K r2 = 2 K m1 = 10 K m2 = 12 K m3 = 4 K
m4 = 12 K S = 152 K cosα = 0,6 K β = π/3 L
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R1 = 5 K r1 = 3 K R2 = 4 K r2 = 3 K m1 = 128 K
m2 = 12 Km3 = 6 Km4 = 10 K S = 624 K α = β = π/3 L
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R2 = 3 K r2 = 2 K m1 = 10 K m2 = 1 K m3 = 24 K
m4 = 13 K S = 36 L
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R2 = 5 K r2 = 3 K m1 = 12 K m2 = 4 K m3 = 24 K
m4 = 12 K S = 120 L
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R2 = 3 K r2 = 2 K m1 = 10 K m2 = 1 K m3 = 30 K
m4 = 12 K S = 38 L
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R1 = 4 K r1 = 3 K R2 = 4 K r2 = 3 K m1 = 10 K m2 = 13 K
m3 = 3 K m4 = 13 K S = 78 K cosα = 0,8 L
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R2 = 3 K r2 = 2 K m1 = 10 K m2 = 15 K m3 = 1 K
m4 = 10 K S = 108 K cosα = 0,6 L
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R2 = 5 K r2 = 3 K m1 = 4 K m2 = 12 K m3 = 3 K
m4 = 15 K S = 68 K α = π/3 L
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R1 = 4 K r1 = 2 K R2 = 4 K r2 = 3 K m1 = 5 K m2 = 15 K
m3 = 15 K m4 = 10 K S = 135 K cosα = 0,8 L
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R2 = 4 K r2 = 3 K m1 = 5 K m2 = 13 K m3 = 12 K
m4 = 13 K S = 86 K cosα = 0,6 L
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R2 = 4 K r2 = 3 K R3 = 3 K r3 = 2 K m1 = 16 K m2 = 15 K
m3 = 15 K m4 = 10 K S = 168 K α = π/3 L


